Fr28FEIBHE D TIRRERE

i (35) A L1E BT (138) FiltiE

REIEH Elik=1 B NO. 1 NO. 2 NO. 3 NO. 1 NO. 2 NO. 3 NO. 4

H28.11.30 H28.11.30 H28.11.30 H28.11.30 H28.11.30 H28.11.30 H28.11.30
HREHL Cd [mg/kefzE 1B <0.5 <0.5 <0.5 <0.5 <0.5 <05 <0.5
T IEEY CN  [mg/keBzE1E S A A A IS A I4
AEREEEY O-P |mg/keBZE{E i i <1 s <1 A i3
£ Pb  |mg/kgBzElE 14 12 12 16 18 14 14
o0 L Cr6+ |mg/keliz=1{E i < <1 /s <1 A I3
it As  |mg/keBrE1E 47 42 8.8 44 3.8 40 3.7
K ER T-Hg |[mg/kefzE1E 0.20 0.16 0.09 0.02 0.05 0.02 0.04
F7ILEILKEBIEED Al-Hg [mg/kez E1E <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
REILEDTZ )L PCB |mg/keFrE1E <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
K5 H.O0 [9% 15.0 11.0 35.3 8.4 11.0 10.7 13.4
TRH28FEERMRIIRVERIIEE -ERMTIEREHER

B R Il & & x @ R ) & & T 0 B ERBIE
REIEE Elik= Bif NO. 1 NO. 2 EEI NO. 3 No. 4 No. 5 NO. 1 NO. 2

H28.11.29 H28.11.29 H28.11.29 H28.11.29 H28.11.30 H28.11.30 H28.11.28 H28.11.28
HRE DL Cd  [mg/keBZE1E <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.3 0.3
STUALEY CN _ [mg/keB7E1E <1 4 <1 4 <1 4 - -
ERHIEEY 0-P |mg/keBzE 1B <1 A <1 4 <1 4 - -
0 Pb  |mg/keBzE{E 5 6 6 6 7 6 - -
N[z N Cré+ [mg/ketz =B <1 <1 <1 <1 <1 <1 - -
LR As mg/kegfz = B 22 22 3.2 3.8 20 27 0.8 0.9
K ER T-Hg [mg/kefz=1E 0.04 0.08 0.38 0.09 0.01 0.02 - -
7ILEILKERILEY Al-Hg [mg/kef7 £ 1B <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 - -
HRYEIEETITI=—)L PCB [mg/kefe =1l <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 - -
mEHE % 1.4 1.6 1.7 1.8 20 22 - —
JINRIAZTHUHEYMEESE=S me/kefz = B <250 <250 <250 <250 <250 <250 - -
£ Cu  [mg/keB7E1E 15 19 11 16 28 16 16 12
K H.0 [% 22.1 20.2 19.7 214 228 225 45.0 441




